

$$y'' + 4y' + 29y = 4e^{-2x} - 4e^{-2x} \sin 5x + \underline{x^2 - 5}$$

$$r^2 + 4r + 29 = 0 \quad \{r_{1,2} = -2 \pm 5i\}$$

$$y_h = e^{-2x} (C_1 \cos 5x + C_2 \sin 5x)$$

$$f_1(x) = 4e^{-2x} \quad \left\{ \begin{array}{l} f_2(x) = -4e^{-2x} \sin 5x \\ y_{\hat{0}_2} = e^{-2x} (A \sin 5x + B \cos 5x) \end{array} \right. \quad \begin{array}{l} \text{Resonans!} \\ \text{(Özel durum)} \end{array}$$

Resonans yok!

$$f_3(x) = x^2 - 5$$

$$y_{\hat{0}_3} = ax^2 + bx + c$$

Resonans yok!

Örnekle $y'' + y' - 2y = x^2 - 1$ dif. denkle. çözünüz.

$$r^2 + r - 2 = 0 \quad \left\{ \begin{array}{l} r_1 = -2 \\ r_2 = 1 \end{array} \right. \quad y_h = C_1 e^{-2x} + C_2 e^x$$

$$\left. \begin{array}{l} y_{\hat{0}} = (ax^2 + bx + c) \\ y'_{\hat{0}} = 2ax + b \\ y''_{\hat{0}} = 2a \end{array} \right\} \begin{array}{l} 2a + 2ax + b - 2ax^2 - 2bx - 2c = x^2 - 1 \\ -2ax^2 + (2a - 2b)x + 2a + b - 2c = x^2 - 1 \end{array}$$

$$\left\{ \begin{array}{l} -2a = 1 \\ 2a - 2b = 0 \\ 2a + b - 2c = -1 \end{array} \right. \quad \begin{array}{l} a = -\frac{1}{2} \\ a = b = -\frac{1}{2} \\ c = -\frac{1}{4} \end{array}$$

$$y_{\hat{0}} = -\frac{1}{2}x^2 - \frac{1}{2}x - \frac{1}{4}$$

$$y = y_h + y_o \rightarrow \boxed{y = C_1 e^{-2x} + C_2 e^x - \frac{1}{2}x^2 - \frac{1}{2}x - \frac{1}{4}}$$

Örnekle $y'' - y' = 2x + 1$

$$r^2 - r = 0 \Rightarrow r(r-1) = 0$$

$$\boxed{r_1 = 0} \quad r_2 = 1$$

$$y_h = C_1 + C_2 e^x$$

$$y_o = (ax+b)x = ax^2 + bx \text{ (rezonans)}$$

$$y_o' = 2ax + b$$

$$y_o'' = 2a$$

$$2a - 2ax - b = 2x + 1$$

$$-2a = 2 \rightarrow a = -1$$

$$2a - b = 1 \rightarrow b = -3$$

$$y_o = -x^2 - 3x$$

$$\boxed{y = y_h + y_o = C_1 + C_2 e^x - x^2 - 3x}$$

Örnekle $y'' - 4y' + 3y = 4e^{2x}$

$$\left(\begin{array}{l} r^2 - 4r + 3 = 0 \\ r_1 = 1 \\ r_2 = 3 \end{array} \right. \quad y_h = C_1 e^x + C_2 e^{3x}$$

$$\left. \begin{array}{l} * y_o'' = Ae^{2x} \\ * y_o' = 2Ae^{2x} \\ * y_o = 4Ae^{2x} \end{array} \right\}$$

$$4Ae^{2x} - 8Ae^{2x} + 3Ae^{2x} = 4e^{2x}$$

$$\cancel{e^{2x}} (4A - 8A + 3A) = \cancel{4e^{2x}}$$

$$-A = 4$$

$$A = -4$$

$$y_o = -4e^{2x}$$

$$\boxed{y = y_h + y_o = C_1 e^x + C_2 e^{3x} - 4e^{2x}}$$

Örnekle

$$y'' - 5y' + 6y = 5e^{2x}$$
$$r^2 - 5r + 6 = 0$$
$$r_1 = 2, r_2 = 3$$
$$y_h = C_1 e^{3x} + C_2 e^{2x}$$

$$y_0 = A x e^{2x} \text{ (rezonans)}$$

$$y_0' = (A e^{2x} + 2A x e^{2x})$$

$$y_0'' = 4A e^{2x} + 4A x e^{2x}$$

$$4A e^{2x} + 4A x e^{2x} - 5A e^{2x} - 10A x e^{2x} + 6A x e^{2x} = 5e^{2x}$$

$$4A + 4Ax - 5A - 10Ax + 6Ax = 5$$

$$-A = 5 \Rightarrow A = -5$$

$$y = y_h + y_0$$
$$y = C_1 e^{3x} + C_2 e^{2x} - 5x e^{2x}$$

Soru

$$y'' - 4y' + 4y = 8e^{2x}$$

Örnekle

$$y'' + 5y' + 6y = 2 \cos x$$

$$r^2 + 5r + 6 = 0$$
$$\begin{pmatrix} r & + & 3 \\ r & + & 2 \end{pmatrix}$$

$$r_1 = -2$$
$$r_2 = -3$$

$$y_h = C_1 e^{-2x} + C_2 e^{-3x}$$

$$y_0 = A \cos x + B \sin x$$

$$y_0' = -A \sin x + B \cos x$$

$$y_0'' = -A \cos x - B \sin x$$

$$-A \cos x - B \sin x - 5A \sin x + 5B \cos x + 6A \cos x + 6B \sin x = 2 \cos x$$

$$(5A + 5B) \cos x + (-5A + 5B) \sin x = 2 \cos x$$

$$\left. \begin{array}{l} 5A + 5B = 2 \\ -5A + 5B = 0 \end{array} \right\} \quad 10B = 2 \rightarrow B = \frac{1}{5}$$

$$A = \frac{1}{5}$$

$$y_0 = \frac{1}{5} \cos x + \frac{1}{5} \sin x$$

$$y = y_h + y_0 = C_1 e^{2x} + C_2 e^{-3x} + \frac{1}{5} (\cos x + \sin x)$$

Ömer

$$y'' + 4y = \sin(2x)$$

$$r^2 + 4 = 0 \Rightarrow r^2 = -4 \rightarrow r_{1,2} = \pm 2i \quad \text{teş kat kök}$$

$$y_h = C_1 \cos 2x + C_2 \sin 2x$$

$$y_0 = (A \sin 2x + B \cos 2x) x \quad (\text{rezonans})$$

$$(A(x \sin 2x) + B(x \cos 2x))$$

$$y_0' = A \sin 2x + 2A(x \cos 2x) + B \cos 2x - 2B(x \sin 2x)$$

$$y_0'' = 4A \cos 2x - 4A x \sin 2x - 4B \sin 2x - 4B x \cos 2x$$

$$4A \cos 2x - 4A x \sin 2x - 4B \sin 2x - 4B x \cos 2x + 4A x \sin 2x + 4B x \cos 2x = \sin 2x$$

$$\begin{aligned}
 4A &= 0 \rightarrow A = 0 \\
 -4B &= 1 \rightarrow B = -\frac{1}{4} \\
 y_0 &= -\frac{x}{4} \cos 2x
 \end{aligned}
 \left\{ \begin{array}{l} y = y_h + y_0 \\ y = C_1 \cos 2x + C_2 \sin 2x - \frac{x}{4} \cos 2x \end{array} \right.$$

Omek $y'' + y = \sin^2 x$ $\sin^2 x = \frac{1 - \cos 2x}{2}$

$$r^2 + 1 = 0 \Rightarrow r_{1,2} = \pm i \quad y_h = C_1 \sin x + C_2 \cos x$$

$$* y'' + y = \underbrace{\frac{1}{2}}_{y_0_1} - \underbrace{\frac{1}{2} \cos 2x}_{y_0_2}$$

$$\left. \begin{array}{l} y_{0_1} = A \\ y_{0_1}' = 0 \\ y_{0_1}'' = 0 \end{array} \right\} \begin{array}{l} 0 + A = \frac{1}{2} \\ A = \frac{1}{2} \end{array} \quad y_{0_1} = \frac{1}{2}$$

$$y_{0_2} = A \sin 2x + B \cos 2x$$

$$y_{0_2}' = 2A \cos 2x - 2B \sin 2x$$

$$y_{0_2}'' = -4A \sin 2x - 4B \cos 2x$$

$$-4A \sin 2x - 4B \cos 2x + A \sin 2x + B \cos 2x = -\frac{1}{2} \cos 2x$$

$$-3A \sin 2x - 3B \cos 2x = -\frac{1}{2} \cos 2x$$

$$-3A = 0 \rightarrow A = 0$$

$$-3B = -\frac{1}{2} \rightarrow B = \frac{1}{6}$$

$$y_{0_2} = \frac{1}{6} \cos 2x$$

$$y_0 = y_{0_1} + y_{0_2} = \frac{1}{2} + \frac{1}{6} \cos 2x$$

$$y = y_h + y_0 = C_1 \sin x + C_2 \cos x + \frac{1}{2} + \frac{1}{6} \cos 2x$$